FMSFEEE TR PRBEFIEAREE L IRH [23183504]
E LR AEAEREEEHEE [182040]
2023/06/16 ~ 2023/06/17

FSysBEBHE P8 B
BEEHE e B
BTEEHUERE BO EH
BB £ kR EX
Bt iEH 1h 2fi 3L 4L 5 6 76 8L
sA17E %1 4£ 5 F100m WHE #HEE1) 12.38[ILAR RH#(1) 12542 BHQ0) 12.57|&=fE BEE®) 12.80(%E% F7HR() 12.89(% =|&E) 12.90(h#H Hik() 13.02(#& EF®0) 13.22
A:+05 HE KiE b=y ZE = IR =L RE EAMHE
sA17E the24F 5 F100m i BTN 11.67|#2R B2 (2) 11.76|ER S 11.82(fEHA #%3H(2) 11.98|BY A #13H(2) 1203[EKR EAQ) 1212(FE BN Q) 12.23|#0)11 BHR2) 12.25
A:+33 =L Hitf =L ZE HE RE EAMHE B
6A178 the34F 5 F100m EESNEE) 10.87 (kA 1£3}(3) 11.54|HK 1KRE®Q) 11.80| 5k 18 E(3) 11.84(JEH EE(3) 11.99|4%H E#R(3) 12.03[ILAR 1&A@3) 12.03|# R 2H(3) 12.23
A :+23 E 1L a8y HE I Kig INE =L a3
cRicE| TFHEBTFm (WX [HG) 2271|%RE &3O 2382|%R 1BX®Q) 2384|{ER R Q) 2419[iT)Il BEFR3) 2474ILK BEQ) 24.81|/NR BERLQ3) 25.29
A:+10 E LS ap KRE RE Bl | sl
6H178 dEEB a0 | ERN Q) 54.66(1BA EHR(Q) 54.73|BIL RRE®R) 55.87|iE A HEZ M) 57.99|%&@F H#HQ) 58.32[7 L HMK(Q) 58.60|=EA ER(3) 58.62| B4 BEAQ) 59.59
B RE =S EXHE a3 = IR =ILEE il sl
616 P2 44 5 F800m BA BRO) 2:08.07 (B FEQR) 2:1105[fE2 K 2A®Q) 2:14.64|KE 2NQ) 2:18.65|F# HB() 2:20.33(55FH FEHE(2) 22079|RE HH(Q) 2:2456 |88 HEQ) 2:25.12
B =L il EAHE il I Wz RE bl
6Ri6E| dmimmpisom |EAR HREE() 5:11.30| =4 K1) 5:12.15|3 8 RAN) 5:14.66|2H TRAERT) 5:19.12[FME Zk(1) 5:21.22|[R#F MHZE®) 5:21.51|BEE #&E1) 5:22.91(#8A TEFFK) 5:24.97
b=y HE ZE HE A KiRE EAMHE A
6R178| wEmmsTisom | HHG) 4:27.08[ 7R 7IIL(2) 4:29.28| KA F£NQ) 4:34.04i% R@Q) 4:34.06[3RA BAXERS) 4:37.35 M08k 1ZR®G) 4:4227[E 2K #XEQ) 44234 FH BAQ) 4:43.30
. RE il Bl HE RE INE EXMHE ZE
6R16E| wEmmsTscm | HEHG) 9:45.95 [P )I| 1&EE(2) 9:46.61(i%F #k(3) 9:53.58| LEF 4L+ (2) 10:05.91 [BH EEQ) 10:06.95|KF ZEF(2) 10:09.72 (X KZ(2) 10:13.27[;8 L 1842(3) 10:19.96
. HE =LA HE RE | KRE KR =&
6178 ﬁ;ﬂf‘zﬁm’) FR IEKRQ) 15.43[k1L EEQ) 15.70|#4H FRIKEG) 15.91|E$ EFEQ) 16.05[ 550 FEFQ) 1767|F8 &Q) 18.09| M MEX(3) 18.16[ L K@) 18.20
B+17 KRE EAMHE il =114 Bl A RE INE
ZE 5267 &2 52.96 (548 53.05(7K45 54.17 (3211 54.34| = LLEIER 54.85| = KHi/E 55.58
F5 BR®O EH IR xE BFEQ0 i3 & QD) R Eah() =i EE() fHa FERW)
6A168| HPIFEHFXI0mR |F1H RE®N) A EHEW0) ERKR B0 YEM A1) AL FAER(T) IBE RAQ) Ha mFEQ)
BE =M HwE BEARA) EE 1) R REW) BEE ME() HER BEEW) ArA #&EW)
RiE BEEW) M HiK() N () WA RFEA) KE FAU) # R/EQW #/E BHE®0)
IR 45.86( 2 46.67;%E 46.68(ZE 47.17(31L 4728 E2H 47.32(3 )11 4137 B XHE 51.24
WA 1&A@G) e B2 EH M|AXEQ) A #BRQ@) A REQ) BEH BQ thiE AA(2) TH EEEG)
6A178| BB FAXI00mR |HEA F5(3) HE E3Q) BA EKQ) [EE #%HQ) ST BESRG) NG BARE®) Ei: JEPNE)) Bl RkE®G)
R BEE) A BHQ) - ERE) =E RO =R BB K #EANEQ) TH EEG) HE BNOQ
it BTN IREA E3@Q) WA 15EQ) [T X1 10) MR BERQ) WA FE@Q) ik EEQ) K EREG)
cH1E| semsmmzesm | REQ) 1m80| F# EE(3) 1m77|#EE HHKERES) 1m71|%&% F—2) 1m59(ILE FEBAQ) 1m56 [FEH HRE(3) 1m53|ILE F|AEQ2) 1m50| 7R 73IL(2) 1m40
! i iﬂzi - E?Z;M#E ZE imﬁw ZE HE a8y Bl
s - BE BEAQ) 3md0[EAR ERE3) 2m80[AE AIH®3) 2m70(;8% HHZE(2) 2m40(BAEA FRAQ) 2m00
68178| BB TEEN i sl T T s
6A178| smiemzemm |7 SR 5m34-09)|FM BEC(1)  4mOTGO4)|ME MFE()  4m79-04H[RHE F(1) 4m74(+0.5)| %A BF(1)  4me7-1.O[FIE FH()  4mSIIB)[IUK RFH()  4ma2(+02)|ILE BAER(1)  4m39(+1.4)
ZE =S EAHE b=y | b=y RE KiE RE
N T E— R Q) 5m87(+0.6)|ili s BEZMB) 5m86(+1.0)[KILU EZE(Q) 5m74(+0.5)[JHAR 155 (3) 5m74(0.0)| R FKEQ) 5m67(-1.6)|JEM E 5 (3) 5m64(+0.8)| &8 FHF—(2) 5m61(+0.8)|#RE MFE() 5m24(+0.3)
! - b=t} a8y EAHE RE bl Kig =ILFEEE =L
sR7m| PERESTRAR [IX —KQ) 12m45| S ZER@Q) 8mo0|BH HFHIQ) 8m75(1E {Z(2) 8m55[EF BIREA) 8m55(XiR BA%() 8m53[IUTF EEAE(Q2) 8m35(ILLUE ZREQ) Tm72
(5.000ke) Bl ZE il =L /AR | ZE a3
bR rmEnEE DD S 2081 |AF EFAG) 1891 515 SEEHQ3) 15365 [AEIE A () 143553 |FiE  1FR(2) 103153 |=AT R=FH) 660 (&4 51 4861
= I Aatian 111 E{IE A= il N | Ll EXRKE
16.30(0.0)-10m48-1m54-59.00 16.61(0.0)-9m84-1m45-1:00.49 18.90(0.0)-8m00-1m45-1:01.09 20.16(0.0)-7m89-1m40-59.76 19.88(0.0)-7m72-NM-1:02.83 21.73(0.0)-6m40-NM-1:08.82 22.47(0.0)-4m33-NM-1:09.26
%118 | BEFDE il 1005 | E LLIETAR 185 |HE 18m | E 57m | = KHE 5053 | &l 445 (5P 37| FE 285

R NMAREREL




FMSFEEE TR PRBEFIEAREE L IRH [23183504]
E LR AEAEREEEHEE [182040]
2023/06/16 ~ 2023/06/17

FSYOBHE B BA
BEEHE e B
BTEEHUERE BO EH
B kR EX
Bt A 1h 2L 3L 4L 5 6 76 8L
6A178 i £ F100m AP LT 1294|548 =& 13.48(:ZMA #3E®1) 13.69|EAR Ex(1) 13.83(11A Ya((1) 13.93[#K B/®) 14.05|#E #E() 14.05|% R BARE() 14.25
A:+32 RE /A b=y =R WE =LA me KRE
6A178 24 % F100m Kig H22) 12.95|#% B &) 13.19|3E %0752 1339|=4 8 mMm=EQ) 13.42(EFT EF(2) 13.56(HEE BEQ) 13.77| Bl ZEHE2) 13.79|# B #%EQ) 13.97
B:+12 Kig Hitf ZE &I HE HE bl /K
6A178 34K F100m FH EAEQ 12.54|#2A 1DE®Q) 12.82|F# HE®Q) 12.86(FHHA 1L&E®) 13.14H R EE®Q) 13.15|&FiR BZE@Q) 13.26|FEEME #3(3) 13.35|h A KK(3) 13.43
A:+20 Kig GR[7K#B SR IS a3 = ILEER bl |
cRem| TEtExTFom |HH EAE) 2590|904 HEQ) 26.86| R HREQ) 27.04|5H LEQ) 2749k #2A0Q) 27.60|FEBE #XQ) 27.955A R 2EQ) 28013k £ £1F8(2) 28.26
&:00 Kig =GR|$&E)I| =L EIIE4: b=y | R a3 ZE
6R168| hesmkzeoom | FAEQ) 2:14.82(2)Il EMQ2) 2:15.36 75 H REQ) 2:2352([7 RF(Q) 2:3471 KRR /MEI(3) 2:41.03(FH HERQ) 2:44291lLO0 EAZQ2) 2:46.30(8R 8 FE@O) 2:57.00
a KiREF GR[KIRE GR| = LLFEER =IWFEE HE W= B/A INE
6R17H| st T1500m SH FEEE) 4:49.92| KEF| <52 4:56.38 AT AHH(3) 5:03.03[F EF@3) 5:14.60[#BA WFEQ) 5:20.24 (7850 1VEE(2) 5:24.60(ILO0 EAZEQ) 5:28.08|#H EH(2) 5:28.54
. =LA XRE KRE =LFEE EAKE WE /K INE
6R178 JiSkarstont B KEEG) 14.80[EHF) BFI(2) 15.74| XR%1 FEQ) 16.54| =48 B=HE(1) 16.59|%EH BHE) 17.16|2E BEEQ) 1785\ @& EH(Q) 1819[BH BE@Q) 18.26
B+ HE L =L /AR HE KRE /K =L
HE 57.54| = LLFEER 59.25( 23 59.52( 32 )11 1:00.46| B & 1:01.72|F0& 1:02.18 |48 1L 1:03.12
R FQ1) 10 EaB() P A3 (QD) FEE Fix®) BiF R0 & Z501) IR ERFEAN)
6A168| HPIFELFXI0mR |3k BER(1) A Bm HE #ED NI FER) B OREEW) BwE #E®1) gz 3=15300)
F EBFA) # #mQ) EE k) it HEW) =24 (1) TERR M) [TV 128 ¢}
KE #wIn) 8H F&HW) A &) FTER SREE() 'R —fEW) KA Fi) BHE RZEW)
KiE 50.58 ;&2 51.18(3& )11 51.43| = ILALER 53.34[ 2 5348548 53.70| KiRE 54.41| = ILEIER 54.48
B EEEQ) KB BHEQ) Al ZEHEQ2) Pl 6] 2R B EE M) # TA3(2) IWE 55=(2)
6A17E| HEHBEBLFIXI0mR  |KIE $HE(Q2) B BKEQ) =78 EmERQ2) EHH DEQ) maAR HERER) %k Wa©2) EH BEEQ HR BEQ)
WE DEQ) 2% faBE) ESH #3EQ) £% AmEQ) sk Bk (3) =E BEQ) #HLE MEQ) K& FEER)
hH EAEQ AR #ETH() Pt EEQ) INERBE(2) AR LEQ) EREDRE) HR AR A =E1)
6R17E| mesmazesm  |BA HEE) Tmd2| KI5 FrEE@R) 1md2|5H &#RQ) Tm33|FEH VAS(3) Tm30|/INEE - SEF(3) Tm25| KA HHQ) Tm25[#E IDE2) 1m20( LU =) 1m20
! i b=v:. ] =L /K =LA RE L& XRE HE
6H178 e A fETH0) 4m38(+0.8)|FFR BHAR()  4m22(+0.0) /NIl FEZEQ) 4m12(-0.3)| XA D) 4m05(+2.3)| E1 KE(1) 3m88(+0.3)[#1L EEE(1) 3m88(+0.3)| &R FF(1) 3m80(+0.8)|BBH (1) 3m75(+0.7)
B EE KR bl a9y 2883m96(-1.7)| E NE bl SIS
R T —— KB ZHEQ) 5m02(-0.2)[ K& $2(2) 4m99(-0.4)|H:2 HE®) 4m55(+0.6)| RH WP &H(3) 4m33(-0.6)|H#A EEE(2) 4m32(-0.7)| A FF(2) 4m23(0.0)[FFiF Hk&(3) 4m21(-0.3)[#2/R HYE(2) 4m18(+0.1)
! RE KiE =LA HE B RE ap b=v:. ]
cpi7g| TERExTmag  [EE AR 9m32[AA EBKQ) ImO7[AR Q) 8mb7[IRT FHHE(2) Tm84[iBH FHZH@Q) Tm80|hAf NE(Q) Tm61|ILE 5% Q) Tm59({E{R H#EQ2) 7m55
(2721ke) =IE4: JiT::] ]z HE EANIEA: b=y | =ILFEEE B
— e 26072 [ZE BEEQ 169953 |/\ A% FEI(3) 14135 | =8 EIEQ) 138453 [FE TEEQ) 1363 |[f2 AR RHE®Q) 1201 |8 HEQ) 11878 [FE DE®@) 11565
L] B A RE KiRE VPN | = L& i) KiRE
14.89(0.0)-1m46-7m88-26.17(-2.2) |17.40(-0.5)-1m15-7m08-29.18(-2.2) | 18.89(0.0)~1m25-6m57-32.10(-2.2) |20.40(-0.5)-1m25-6m09-30.06(-2.2) | 19.59(-0.5)-1m20-6m36-30.92(-2.2) | 20.81(-0.5)-1m28-5m78-31.13(-1.6) | 21.27(0.0)-1m15-6m16-30.69(-1.6) |21.24(0.0)~1m10-6m71-31.06(-1.6)
15 2 LFDE HE 662 | KREF 518 K15 465 | EILTEED 455 | 321 =S 2R [B/ K R ET 318

AHl GRARFRE =GRAKIIE




